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PART 1

For questions 1-15, read the text below and decide which word A, B, C or D best fits each space.
There is an example at the beginning (0). Mark your answers in the answer boxes provided.

———— e S i

Starting a Business

Running your own business can (0) ... really high levels of job satisfaction - the satisfaction of being in
(1) ... of your own life and making your awn (2) .... about how things should be done. Ifyou are ambitious,
you may want to achieve (3) .... on a large scale and eventually to become rich. Or it may be (4) .... foryou
simply to enjoy work more and to achieve a modest increase (5) -... living standards at the same time. I’s
important to take into (B) .... the less desirable aspects of the work as (7) .... . For instance, if problems
(8) ...., it will be up to you to sort them (9) .... . You'll probably have to work harder and longer hours,
especially in the (10) ... stages. You'll probably see less of your family and friends too. And, of course, you
won’tenjoy the security ofa (11) ... pay packet. Ifyousee all that as achallenge (12) .... than adisadvantage,
you have at {13) ... one of the qualities needed for success. Other qualities (14} .... the ability to work on
one’s own, a refusal to (15) .... up and a willingness to take on responsibility. Do you have what it takes?

0 A make B present C provide D suggest 0 A l__B_l £ I%
1 A duy B charge C  place D position 2 &b L}
2 A alterations B proposals C ideas D decisions |2 | A & £ n
3 A courage B power C  success D security 3|4 é é %
4 A many B enough C too D lots A é |:cn é:
5 A at B on C in D for sd; A.B.E.2
6 A account B mind C thought D accord g A B E R
7 A much B also C too D wel 7 él é ‘% %
8 A rise B raise C arise D happen 8 é é é &.
9 A w B in C  through D out 9 :A' é‘ é %
10 A original B early C starting D beginning |10 | A B € D
11 A permanent B square C regular D usual 1 él él é ,'_D—_I
12 A rather B instead C otherwise D other 12 : é) é é ‘%
13 A last B least C once D most 13 é é. & ‘%
14 A compose B contain C  consist D include 14 é‘ é é %
15 A give B work C D draw 5| ABED

l il

For questions 31-40, complete the second sentence so thatithas a similar meaning to the first -
sentence. Use the word given and other words to complete each sentence. You must use
between two and five words. Do not change the word given. There is an example at the
beginning (0). Write only the missing words in the answer boxes provided.

PART 3

i L e e e e
© Your house needs to be decorated. B o

have O needto haveyour house | o
YOU coorenrcnrsmmnrasssmnssennesss de0OTALED.

31 Pm not as good at golf as he is. 31
than 31 = o
HE cocsinssurmmmsassssrmsasssns LA

32 The boss rejected Edward’s proposal. o35 22
turned 32 e T v
EAWard’s cousussemcessensine. the boss.

33 They had to give him a lift home. |;3| | a3
be = =
HE vovureeerrreenniesissimenenness @ lift home,

34 There’s no sugar left.
run 3 =te
TWE 1uivareearssrammenssssisssannns SUBAT. :

35 He intends buying a car next summer. a5
intention 35 f— =]
LS vevrsrsssssesecsenms @ CAT NEXL SUMMET.

36 Ann took some photos with her camera. =
used 36 l‘_”lasl:I I
V11 PUTT———————L LY ) s

.37 It's unlikely that John will come tonight. 3
to ar = 71:|
B3]}, p—— W oo tonight.

38 We couldn’t sail because of the wind last night. B 38
prevented 38 e il e I
THE. i ie SRR st neght: ;

38 The mechanic is going to fix my car tomorrow. a9
fixed 39 =1 =3
I'M GOINE sovvevcrusesssssamssussssssssmsensssessss TOMOITOW,

40 Serving alcohol to teenagers is illegal. P I
forbidden 40 —l—
Itis to t

PART 2 ¥
For questions 16-30, read the text below and think of the word which best fits each space. Use

only one word in each space. There is an example at the beginning (0). Write your word in the
answer boxes provided.

e R T
E Numbers

Have you ever wondered {0) ... the E numbers on food packaging (16} .... for? E numbers identify
food additives that are approved for use (17} .... Burope. Most of (18) .... additives are nothing (19) ...
than substances added to food to (20) .... it more attractive and appealing. A lot of additives do this
(21) .... simply changing the colour of the product. (22) .... example, if a manufactured orange drink has
little colour, a substance will (23) .... added that gives the drink an orange colour. Likewise fish fingers and
crisps have E-160b, a yellow dye (24) .... comes from tropical trees, added to them.

The E number system was created after many people voiced concerns (25) ... the additives in food.
Instead (26) .... reassuring them, the E number system has only (27) .... the problem worse, (28) ...
manufacturers have gone back to using their full chemical names again.

But additives also have good points. They (29) .... used to preserve food, and some supplements,
{30) ... as iron and vitamin B, are added to increase nutritional value.

0 what — 0_
16 =15
17 e ey
18 =18
19 . P,
20 .
21 =21
b =2
23 - |_—_|23|:
. 24 | —24 -
25 :25:|
26 Dzel::‘
27 A
- 28 :'2B|_.__'
29 a2
2 =¥
PART 4 |

For questions 41-55, read the text below and look carefully at each line. Some of the lines are
correct, and some have a word which should not be there.

Ifa line is correct, put a tick { +) by the number in the answer boxes provided. If a line has a
word which should not be there, write the word in the answer boxes provided. There are two
examples at the beginning {0 and 00).

Leonardo da Vinci

0 Leonardo da Vinci, an Italian who lived about 0 'l :P_
D0 500 years ago, was one of the most cleverest people 00 most o0,
41 who ever lived. Although he is the most famous 41 41
42 for his painting "The Mona Lisa", he was also 42" ézﬂ 1
43 an inventor. Since then the beginning of time, people 43. N
44 have wanted to be able to fly, and da Vinci, too, 44 e
45 was dreamed of being able to move through the sky. 45 =y
46 More over 20 years, he imagined and drew plans for 46 35
47 so many flying machines, but none were ever 47 c‘,’ 3=l
48 built, However, even if one had been built, it 48 48 |
49 would never have been taken off. At that time the 49 E ‘

materials be used to build aeroplanes did not exist. 50 é,’o

51 Besides, modern engines had not yet been 51 3
52 invented already so his flying machine would not have 52 LY
53 had enough power to take off it. Fortunately, the great 53 53
54 inventor had not invented his machines in order as to 54 e
55 fly. He simply wanted to understand how much birds could fly. 35 N

I PART 5

For questions 56-65, read the text below. Use the word given in capitals at the end of each line
1o form a word that fits in the space in the same line. There is an example at the beginning (0).

Write your word in the answer boxes provided.
Dogs of loely e
S £
Dogs are said to be man's best friend. They display a 57 57
great deal of (0).... towards their LOYAL ‘:'rs‘?._
(56).... and are very affectionate and loving. As well as OWN 58 ==
providing (57)...., they also provide COMPANION | 58 :.E
{58).... for people and their homes. However, not all dogs PROTECT 60 50
are the same. They have their own (59).... and PERSONAL = C;F'
eccentricities. Some dogs are (60).... and have to attend OBEDIENT 61 S
classes to change their (61).... . Their masters have to BEHAVE 62 552
learn to punish (62).... . NAUGHTY 63 ﬁa‘
(63).... usually takes the form of smacking the dog and using stern PUNISH ‘"—"—“Q-
. speech. They have to praise their dogs when they behave correctly 64 (s Tom]
and show their (64).... with treats and affection, Using these APPRECIATE | 65 5]
techniques dogs can be (65).... controlled by their masters. TOTAL



